T B0 R fo—¢ v VipouieHne MHOTOUIEHOB

Nwms: Jara: Onenka:
26— 5¢° — 2(2)62 — 7x2) —3x° 4(x + 3x) — S5x — Tx? + dx®
332 — 2% + dx+ 4(3x° + 4xh) Ax — 4 +303%° + ) +x
4x — 9% — 5% — Sx +3x° 3(7x2+ &) —4x+x+Tx
4(x2—2.x)+2x3—x2+9x 6x + x* + 5x— x— 5x°
8x° + dx + 4y + 202 + 8x°) 6x° + 3x° — x + 3(9%° + 7x?)
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E = TR o= T

YpoiieHne MHOTO4JIEHOB

Nwms:

260 = 5 = 2(2x% — Tx%) = 3x°
—6x° + 102

3% = 2% + dx + 4(3%° + 4x?)
20x% + 4x

dx — 9 — 5x% — S5x + 3x°
—60° — 5% —x

40 — 2x) + 20 —x* +9x
27+ 32 +x

8x° + dx + 4x> + 22 + 8x%)
32x° + 4x

Jara: Orenka:

4(x+ 3x)— 5x— 7%+ 4x3
47 — ¢ + 1lx

4x— 4% +3(3x° + T +x
30x° — 4 + 5x

3(7x2 +8x)—4x+x+7x
21x% + 28x

6x + x° + 5x — x — 5x2
—4x% + 10x

6x% + 3x° —x+ 3(9x3 + 7x2)
30x° + 27 —x
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